(2)8 %X ®

>IN BEAER AZEFE = IN-|
SR Ea £ B & (BxEHT) x x 1Z19%
Hil 1215PN Hi BERR
IR’ ¥ = %lEm % 30 3 0 3 0 -22
B 2 I|Em % 30 2 0 2 0 -23
B B %lEm % 30 2 0 1 0 -27
90 7 0 6 0 -72
E i £ %lEm % 30 2 0 2 0 -23
30 2 0 2 0 -23
B 120 9 0 8 0 -95
@) % #®
E % IN-1 =X-N-1 AZEFE HEAE
EE S [ (B&EHT) z x 12195
HIl 12PN it BERR
X = Elrvvh77h 30 0 4 0 7 0 4 -19
7-+57b 30 0 2 0 4 0 -24
1977 30 0 4 1 3 0 4 -23
I9997-Y 30 0 21 0 8 0 21 -1
B 120 0 31 1 0 31 -67
IS B ¥|gEr® 30 1 1 0 2 1 1 1 0 2 -28
IR’ = E|HE B 30 0 0 0 7 0 7 0 0 0 7 0 -23
HES |#& R E BRI 30 0 0 0 4 0 4 0 0 0 4 0 -26
% h X E BRI 30 0 0 0 2 0 2 0 0 0 2 0 -28
oAl it (|ER-BF 30 0 1 0 9 0 8 0 1 0 9 0 -21
i 1E ¥|# W 30 0 0 0 4 0 4 0 0 0 4 0 -26
B ¥ a Bl 30 0 2 0 0 0 2 0 0 -17
it 330 1 35 1 2 1 35 2 -236
NeH ES[- ] 30 0 0 0 0 0 0 0 0 -19
ER-BF 30 0 1 0 0 0 1 0 0 -23
B 60 0 1 0 0 0 1 0 0 -42
60 0 1 0 0 0 1 0 0 -42
B 390 36 1 2 36 2 -278
(M £ ®
BEAEB =X-N-1 AZFHEAE BEAE
RiETH R |# ] EE (BxEHT) x = 1249 %
i O|WBA Hi BERRE
HEA |E =B = 30 3 0 0 3 -26
2 i R =g = 30 0 0 0 5 0 0 -25
BH B ElE E 30 0 5 1 8 0 5 -17
FF & B ¥|BRE 30 0 1 0 3 0 1 -26
B’ B 120 0 9 1 7 0 9 -94
(B)B & #
BEAER BEAR AZEFE BEAE
E RS E [ (BxEHT) z x 1Z/9%
HEl 1215PN it BERRE
In & B OB E|EE-EX 30 4 0 4 -21
& 3 i 30 4 0 4 -21
(6)E % ®
BEAE =X-N-1 AZEF4 BEAE
EY RS [ (BLBEHT) % % 12x49%
i o|mmA it BAE
£\ E O 30 3 0 3 -20
B 30 3 0 3 -20




